

The first section is the Verbal part. This section has 30 questions. The time limit is 20 minutes. There are 10 synonyms, 10 antonyms, a passage is given and we have to fill up the blanks. Then a comprehension. Some students got all the words form high frequency word list in gre.barrons book.

The second section is the quantitative Aptitude .there was 38 questions and time limit is 40 mins. all the questions were repeated form previous paper. it is enough if we look at the old papers.

The questions pattern is

1. Complete the series.
26, 63, ----, 226..

2. A set of angles for a triangle were given and I was asked to find which one does Not represent a triangle.

3. in a two-dimensional array, X (9, 7), with each element Occupying 2 bytes of memory, with the address of the first Element X (1, 1) is 3000, find the ending address of X (8, 5).

4. In the word ORGANISATIONAL, if the first and second, third And forth, forth and fifth, fifth and sixth words are Interchanged up to the last letter, what would be the tenth? Letter from right?

5. Select the odd one out a. Oracle b. Linux c. Ingress d. DB2

6. Select the odd one out a. WAP b. HTTP c. BAAN d. ARP

7. The size of a program is N. And the memory occupied by the Program is given by M = square root of 100N. If the size of The program is increased by 1% then how much memory now Occupied?
8. A man, a woman, and a child can do a piece of work in 6 Days. Man only can do it in 24 days. Woman can do it in 16 Days and in how many days child can do the same work?

9. Number of faces, vertices and edges of a cube

10. Find the value of @@+25-++@16, where @ denotes "double" And + denotes "change of sign". 

11. Find the result of the following expression if, M denotes Modulus operation, R denotes round-off, T denotes truncation: M (373, 5) +R (3.4) +T (7.7) +R (5.4)

12. A power unit is there by the bank of the river of 750 Meters width. A cable is made from power unit to power a plant Opposite to that of the river and 1500mts away from the power Unit. The cost of the cable below water is Rs. 15/- per meter And cost of cable on the bank is Rs.12/- per meter. Find the Total of laying the cable.

13. Which of the following are orthogonal pairs?
a. 3i+2j b.2i+j c. 2i-3j d. -7i+j

14. If A, B and C are the mechanisms used separately to reduce the wastage of fuel by 30%, 20% and 10%. What will be the fuel? economy if they were used combined.

15. A, B and C are 8 bit no's. They are as follows:
A 1 1 0 1 1 0 1 1
B 0 1 1 1 1 0 1 0
C 0 1 1 0 1 1 0 1

Find (A-B) U C.

16. A Flight takes off at 2 A.M from northeast direction and travels for 11 hours to reach the destination which is in North West direction. Given the latitude and longitude of source and destination. Find the local time of destination when the flight reaches there?

17. Find the singularity matrix from a given set of matrices?

18. (Momentum*Velocity)/ (Acceleration * distance) find units.

19. Which of the following set of numbers has the highest Standard deviation?
7, 0, 7,0,7,0
-7,-7,-7,-7,-7,-7
7, 7, 7, 7, 7, 7
7, 7, 0,-7, 0,-7

20. Match the following.
1. Brother - sister ---> a. Part of
2. Alsatian - dog ---> b. Sibling
3. Sentence - paragraph ---> c. Type of
4. Car - steering ---> d. Not a type of
Ans. 1-b, 2-c, 3-a, 4-d

21. A question from Venn diagram. It was simple.

22. A pie chart was given and a bar chart was given. 4 questions asked from that. (22-25 questions)

26. G(0)=-1, G(1)=1, G(N)=G(N-1) + G(N-2), G(4)= ?

27. What is the max possible 3 digit prime number?

28. If TAFJHH is coded as RBEKGI then RBDJK can be coded as ......
